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8. (5 pts) Intraveling across flat land, you see a mountain directly in front of you. Its
angle of elevation (to the peack) is3.7°. After you drive 12 miles closer to the

mountain, the angle of elevation is 8”. Approximate the height of the mountain above
the plain. Give your answer in feet, to the nearest foot. See figure, below:
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If possible, find the value of the 6 trigonometric functions at the real number 7. Then sketch the
angle.
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Use trig identities to transform the LHS into the RHS.
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13. (5 pts) Sketch a right triangle corresponding to sin (9) = 3° where 6 is an acute

angle. Then find the exact values of the other five trigonometric functions of .
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Degrees, Minutes and Seconds
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